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6.6 λ1, · · · , λs $� �" A
��`�a 0J)�1�2�bJF xi $ λi ,�c�(�)�1�2�3�465V7REd(�)�EeF�Hf=� -hgi��.�/ Aj�k

s ,�; @ Y���l�m�n T�o�( A
(1) s = 1

��p A
x1 6= 0 ?�q {x1} -Rgr��.�/�T�]�) A

(2) s = k
��p�s /�$�t�u�(�) A ;�vRq

x1, . . . , xk

-Rgr��.�/REe(�) A�w�x a1, . . . , ak, ak+1 ,�% Q
a1x1 + · · ·+ akxk + ak+1xk+1 = 0 (7)

M�s / Q�Y @ ) p , a1 = · · · = ak+1 = 0 $�y�<�>�? @�A�z 7 ,�{ ���  �" A |�<�* p xi

M 1�2
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λ1a1x1 + · · ·+ λkakxk + λk+1ak+1xk+1 = 0 (8)

M��h� =�) AR� ��p z (7) $ λk+1 � Q�Y z 8
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(λ1 − λk+1)a1x1 + · · ·+ (λk − λk+1)akxk = 0

M��h� =6gi��.�/�WR?�q
(λ1 − λk+1)a1 = · · · = (λk − λk+1)ak = 0

λi − λk+1 6= 0(i = 1, . . . , k) ?�q a1 = · · · = ak = 0
Mf�R� =�F z 7 ,���� Y���� =�> ak+1 = 0

M
�R� =�) A
�
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6.8 1G2���� z ΦA(t) = 0

�G����� W ���GM (�� Y 1G2�b#T�]�) p F��#1G2�b λ ,G% Q dimW (λ) =�
λ
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cos θ − sin θ

sin θ cos θ

)
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0 a 1
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1 0 −2
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